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7. MITANWdNNITAAAIaaAS




Viath Mode

o ITEX & mode law1z@mIunsfunsyanwoinsamaaaas

a 1
L8N math mOde n1sRNNFUNIINHGTIENT

e math mode s u1snraULT M eluuTIaLG g UTaRNUNG Le
Tagtauaztdadiz \ Cuaz \) w32 $ uaz $ #ia
\begin{math} war \end{math}

, math |

Add a squared and b squared to
Add $a$ squared and $b$ squared

get ¢ squared. Or, using a more ‘
to get $c$ squared. Or, using

mathematical approach: .
a more mathematical approach:

c? = a? +b?
$c"2=a"2+b"2¢$
| |
. another math |
TEX is pronouced as Tey. \TeX{} is pronouced as

\ (\tau\epsilon\chi\) .\\ [6pt]
100" m$"{3}$ of water\\[6pt]

This comes from my
\begin{math}\heartsuit\end{math}

100 m3 of water

This comes from my ©




Display Math

e display math: NSLRAIRNNIIAAFIFASLULLENLAKEDNN
NNTaaNUNG

o Jawamaais \ [ uaz \] w32 \begin{displaymath} uaz
\end{displaymath}

. display math |

Add a squared and b squared to
Add $a$ squared and $b$ squared

get ¢ squared. Or, using a more _
to get $c$ squared. Or, using

mathematical approach: .
a more mathematical approach:

2= a2 1 \begin{displaymath}
c{2}=a"{2}+b"{2}
or you can type less: \end{displaymath}

or you can type less:
a + b =C \ [a+b=c\]

n1sRNNFUNIINHGTIENT




n1sRNNFUNIINHGTIENT

Equation

o TQmaasnslanumainuaun1s ITEX & environment
equation wan1sh lasgmorald \label uaz \ref 1iNadns
flanuneLausunITia

. equation

e>0 (1) \begin{equation} \label{eq:eps}
From (1), we gather ... NG & (0
\end{equation}
From (\ref{eq:eps}), we gather

\ldots




Math vs. Display Math

n1sRNNFUNIINHGTIENT

o NM31389AWNN L1 math mode AU display math 3zUANAABTINGLAS

§2% Wzlu math mode dadtvzndaiiafiumwids Taldussvags
Awly)

I math |
limy, oo Yhy o = & $\lim_{n \to \infty}
\sum_{k=1}"n \frac{1}{k"2}
= \frac{\pi~2}{6}$

. display math |
1 a2 \[\lim_{n \to \infty}
nEg;ZE:ZE'::T; \sum_{k=1}"n \frac{1}{k"2}
= \frac{\pi“2}{6}\]




Math vs. Text ﬁ

n1sRNNFUNIINHGTIENT

o 1 math mode:
— Tayinazgnialagdalud@ anu Tasienguiawazlddng

fgmeaIN133zyTad ey Asuisnlddisy \, \quad w3a
a v v
\qquad (Fusanuninanieylduin)

K A %

_Nudugantin 3siusmadsunsnnaidiule

[ -V 1 o A 1 [~ %] A v

— @ranwanaazarfioindudindslugaviosunis tgm
GAINITUNINTANNRY math mode a9l TAFINLAL LT
\textrm{...}

. text within math |
\begin{equation}
2>0 forallzeR (2) ¥ 127 \geq O\qquad
\textrm{for all }x\in\mathbf{R}
\end{equation}




n139anaN [ Math Mode

1
Qs

o @1596199 11 math mode aznszviiuanaszna LU

v

kg v o e o s v & A
o maasnsiinszimusnasesnainas — ldadudnnm {. ..}

. grouping in math |
\begin{equation}

a3 T+y 3

@ ty7a ) a"x+y \neq a”{x+y}

\end{equation}




29AlszNoUVDIFATAHMAAIENT

. SNWININEINEN:

\alpha, \beta, \gamma, . ..
. dNININE N

\Gamma, \Delta, ...

. Greek Letters |
ANE o, 0,P,0 $\lambda,\xi,\pi,\mu, \theta,
\Phi, \Omega$




299z NoUVDIFATAHMAAENT

o LADENAMAY: ~{...}

e subscript: _{...}

. Exponents & Subscripts |

2 —at 3
a2 e a3 $a_{1}$ \qquad $x"{2}$ \qquad

$e"{-\alpha t}$ \qquad
$a_{ij}~{3}3\\
$e"{x"2} \neq {e"x}"2%




29Iz NoUVDIFATAHMAAIENT

o square root: \sqrt{...}
e n'root: \sqrt[nl{...}

o surd: \surd — 4/

. Square root & Surd |
Nz VI Y 2 $\sqrt{x}$ \qquad
V]z? + v $\sqrt{ x"{2}+\sqrt{y} 1%
\qquad $\sqrt[3]{2}$\\
$\surd[x"2 + y~2]$




29Al9zNoUVDIFATAHMAAIENT

e bar:
\overline{...} — daun
\underline{...} — Taa1s

= |

e NN U:
\overbrace{...} — Tanmun
\underbraceq{. ..} — Inn1as

, Bar & Brace |
m+n $\overline{m+n}$\\
a+b4 42 $\underbrace{atb+\cdots+z}_{26}$




292N UVDIFATAHMAATNT

e derivative/prime:

y.)_>y/ .y.))_>y// y);)_>y///

e mathematical accents:
a \hat{a} a \grave{a} a \bar{a}
a \check{a} a \dot{a} a \vec{a}
a \tilde{al} a \ddot{al}
a \acute{al} a \breve{a}

. Mathematical Accents |

EZ%sz

jaf =1

$\bar{x} = \frac{1}{n} \sum x_i$\\
$1\hat{u}| = 1%




299z NoUVDIFATAHMAAIENT

e wide accents:
\widehat{xyz} — Tyz
\widetilde{xyz} — xyz

e vector:
— single variable:
\vec{a} — a

— wide vector:
—
\overrightarrow{AB} — AB
b
\overleftarrow{AB} — AB




299z NOUVDIFATAHMAAENT

o N3QM:

— dot: \cdot — -

— cross: \times — X
e NITKIT:

—@39nNnenis: \div — =

—wwwdw: \frac{dividend}{divisor}

. Mathematical Accents ]

A-B $\vec{A}\cdot\vec{B}$\\
Ax B $\vec{A}\times\vec{B}$\\
4+-2=2 $4\div2=28\\

L $\frac{xHy+11}$




29AlzNoUVDIFATAHMAAIENT

o ot
\arccos \coth \gcd \limsup
\arcsin \sup \hom \1n
\arctan \csc \inf \log
\arg \deg \tanh \max
\sinh \det \ker \min
\cos \dim \1lg \Pr
\cosh \tan \1lim \sec
\cot \exp \liminf \sin
, functions
sin x \[\lim_{x \rightarrow 0}

=0 I \frac{\sin x}{x}=1\]




29AlIzNoUVDIFATAHMAAENT

e modulo:

— \bmod = binary modulo

— \pmod{n} = congruent modulo

, modulo |
10 mod 3 =1 $10\bmod 3=1$\\
1 =10 (mod 3) $1\equiv 10 \pmod{3}$

. M3FouLATDINRAY: \stackrel{modifier}{op?}

. stack relation |

=
<I3

\[\rho \stackrel{\triangle}{=}
\frac{m}{VH\]




299z NOUVDIFATAHMAAIENT

e integral: \int — f
o summation: \sum — »

e product: \prod — []

, BIG operators |
z \begin{displaymath}

Z /o H \sum_{i=1}"{n} \qquad

\int_{0}"{\frac{\pi}{2}} \qquad

\prod_{\epsilon}

\end{displaymath}




29AlszNOUVDIFATAMAAITNT

e BIG operator 5‘%‘]:

[l \coprod ¢ \oint & \bigotimes
U \bigcup \V/ \bigvee (O \bigodot
(1 \bigcap /\ \bigwedge |4 \biguplus
|| \bigsqcup &P \bigoplus

, BIG operators |
S o \begin{displaymath}
P = %SE 45 \Phi_{E} = \oint_{S}
\vec{E}\cdot \mathrm{d}\vec{S}

\end{displaymath}




292N UVDIFATAHMAAENT

[~3
o NTITILEL

— 29uTnm
—\{...\}
, brace |
@b,c#{a,bc} ${a, b, c} \neq \{a, b, c\}$
L |
— 2uidulng FEwmswadaluld)
— \left(open-delim). .. \right(close-delim)
— tzlaldsule — 14 “\right.”
. parentheses ]
1 3 \begin{displaymath}
1+<1_x2> 1+ \left (%
\frac{1}{1-x"2}}
\right) "3

\end{displaymath}




29AlzNoUVDIFATAHMAAIENT

[~3
e N3 IBLEY

— MIMARAVWIAWLRUULULIDIZD
— \big(delim), \Big(delim), \bigg(delim),

\Bigg(delim,)

. big parentheses |

(@ + 1)@ —1)*

/0 S ST

(((((-)))))

{{{{{-}}}}}
H\le!H

[SIE]
NE]

=1

\[\big( (x+1) (x-1) \big) {2}\]

\[\int_0~"\frac{\pi}{2} \cos x\,dx

= \sin x \biggl|_0~\frac{\pi}{2}

= 1\]

\[\Bigg(\bigg (\Big(\big((\cdot?
)\big)\Big)\bigg) \Bigg)\]

\[\Bigg\{\bigg\{\Big\{\big\{\{\cdot¥%
\HNbig\FN\Big\I\bigg\}\Bigg\}\]

\[\Bigg|\bigg|\Big|\bigl |\cdot?
[\big|\Big|\bigg|\Bigg|\]




292N UVDIFATAHMAATNT

. 9@ lzitlan:

— yuusa: \ldots — ...
— na¥uTIe: \cdots — - - -
— @9 \vdots —:

— wanzed: \ddots — -

, three dots |

\begin{displaymath}
x_{1},\1ldots,x_{n} \qquad
x+{1}+\cdots+x_{n}

\end{displaymath}

9810 0 0 0 o480 z+1+---+x,




avAllsznauDIgAIAAAIEAS

e W09779:
—\, = %quad
—\: =%quad
—\; = %quad

— \ = 78379WaUNnG
— \quad = aunI962 M
— \qquad = 2 quad

—\! =—1—38 quad




29AlzNoUVDIFATAHMAAENT

d10219n13b 1091wl math mode

//D 9(z,y)dzdy

instead of

/ /D 9(@, y)dzdy

spacing
\newcommand{\ud}{\mathrm{d}}
\begin{displaymath}
\int\!\!\\int_{D} g(x,y)
\, \ud x\, \ud y
\end{displaymath}
instead of
\begin{displaymath}
\int\int_{D} g(x,y)
\ud x \ud y
\end{displaymath}




29Al9zNoUVDIFATAHMAAIENT

e N1390 L%EIGﬂL%LL%’JaG

a A A o ) o A 'Y
— in3a9faflls — environment array (n3ldauimilaniu
tabular)

| metrix

1 Z12 __.] \begin{displaymath}

X = \left[
\begin{array}t{ccc}
x_{11} & x_{12} & \ldots \\
x_{21} & x_{22} & \ldots \\
\vdots & \vdots & \ddots \\
\end{array}
\right]
\end{displaymath}

X = X1 X929 ...




29AlszNoUVDIFATAHMAAIENT

%3 a AI 1
e NIIALILILULUIGT (AB)

| cases

a fe>0 \begin{displaymath}
y={ brg ife=0 y = \left\{
] o< \begin{array}{11}

a & \textrm{if $c>0$F\\
b+x & \textrm{if $c=0$}\\
1 & \textrm{if $c<0$}I\\
\end{array}
\right.
\end{displaymath}




29AlszNoUVDIFATAHMAAIENT

%3 a AI 1
e NIIALILILULUIGT (AB)

! grid |
( 12 ) \begin{displaymath}
3

\left(
\begin{array}t{c|c}
1 & 2 \\
\hline
3 & 4 \\
\end{array?}
\right)
\end{displaymath}




29AlszNoUVDIFATAHMAAIENT

%3 a AI 1
e NIIALILILULUIGT (AB)

. binomial coefficient

n ! \begin{displaymath}
( ) rl(n—r)! \bigg(\!\!

\begin{array}{c}

n \\r

\end{array}
\!\!\bigg)
{}"n\mathrm{C}_r
\frac{n!}{r!'\,(n-r) !}
\end{displaymath}




a9AlsznNauVaIgaIAMAFMENS

Q a QI 1
o NMIIALTBILUUUIGT (dB)

— 1% package amsmath &13150ANN binomial coefficient &

RIGRER
\binom{n}{r}
. binomial coefficient |
n "o n! \begin{displaymath}
(r) Tl (n =) \binom{n}{r} = {} n\mathrm{C}_r

= \frac{n!}{r!\, (n-r) '}
\end{displaymath}




avAllsznNaUVDIgAIAAAIEAS

o N1ITALTHIRUNTLLUDIA

— L3P9UNIRUNIIAIY environment eqnarray %3ia
eqnarray* unu equation
— egnarray 3zl¥MansaufnURuNII6Y U6 eqnarrayx
Tl
Agl/ . < = 1 dl o
— ian1lu environment Nyasazialanadlu array Nfnue
Thiu {rc1}
< o ey
— AUABRNWANY &

— UUIINaay \\




a9AlszNaUVaIgAIAAFMENT

e N1IIALILIRNNITLULUIAG (618)

| equation array
\newcommand{\ud}{\mathrm{d}}
flz) = cosz (4) \begin{egnarray}
/ . f(x) & = & \cos x \\
" fle) = —sinz (5) £f2(x) & = & -\sin x \\
/O fly)dy = sinz (6)  \int_{0}{x} £(»\,\ud y &
= & \sin x

\end{egnarray}




ThaiLihyx

29Al9zNoUVDIFATAHMAAIENT

n1sRNNFUNIINHGTIENT

o MITALTLIFNNITIHUUIAG (6i8)

dl a b ad A
— Wasun1seninusme (359 1)
— G8IN1RAKLILTINALEY
— WNYAMIMAULAVFUNIT 2ad189 \nonumber

* I3IRNNLABTAUTINALEIAINT B array

. equation array

\begin{egnarray}
: _ o \sin x & = & x-\frac{x"{3}}{3!}
smr = T — -+ =
3! 5! +\frac{x"{5}}{5!}
__%%.+... (7) \nonumber\\

& & {F-\frac{x"{7}}{7!}+\cdots
\end{egnarray}




29Iz NOUVDIFATAHMAAIENT

o MITALILIFNNITIHUUIAG (6iB)

nda‘

a a o
— WWarun1IuiKLIING (37N 2)
— 1lauddh 1 ualddsy \leftegn{. ..} éwibusma
Wwan

— 1AT0IRNIY = 919 UG TINURNNITIN

. equation array

\begin{egnarray}
oS T — 1__%5 \lefteqn{ \cos x =1
) 2% -\frac{x"{2}}{2!} }
4_%%._.%T_+... (8) \nonumber\\

& & {3+\frac{x"{4}}3{4'}
-\frac{x"{6}}{6!}+\cdots
\end{egnarray}




292N UVDIFATAHMAAENT

o NMITALTLIFNATIUULUIGT (AB)

ndd‘

P A o
— LARUNITYNILABLIING (DN 3)

) £ a . . A

— 1 package amsmath &34 environment split wWan1s

LENUIINARNNIT

— 'l package amsmath £33 environtment 8u:
-multline wonussnaanmsuuuluSodluuuife
- align MuUnguINNIIRUUEIlWILUIAY

- gather unguaunsuuylaiFesluumide




29Al9zNOUVDIFATAHMAAENT

o NMITALTHIFNATIUULUIGT (7D)

di a b Adai 1
— WARUNIIANMILNULIING (3TN 3) (§8)

| equation array |

\begin{equation}

cosx = 1—-ici \begin{split}

3342! 6 (9) \cos x & = 1
+'ZT'—'ET<+... \frac{x"{23}{2!' }\\

& \quad {}+\frac{x"{4}}{4!'}

-\frac{x"{6}}{6!}+\cdots
\end{split}
\end{equation}




Phantom

Th‘o/ L/hux

« Phantom (R) dafeniuadhiifiv udlinegluiala

n1sRNNFUNIINHGTIENT

o 11130 BTEX uda Phantom §13Awidledt ualdunngluenans

— 1H18u trick lun139@ space Tunsdifl BIEX u3nnsdinly

. phantom in isothope |
\begin{displaymath}
{}"{12}_{\phantom{1}6}\textrm{C}
\qquad\textrm{versus}\qquad
{3 {12}_{6}\textrm{C}
\end{displaymath}

re Versus 51C

. phantom in exponent separation ]
k i \begin{displaymath}
L. versus L'y o .
" J \Gamma_{ij}~{\phantom{ij}k}
\gqquad\textrm{versus}\qquad
\Gamma_{ij}"{k}
\end{displaymath}




Math Font

MIRINTUNIIATAMAAT

maunIngnn

o T math mode, HT1X loWauduwad19g euusun 1o
subscript lE@3L8n

o 189 \textrm{. ..} Wun1szavulues text mode laudSuaie
Wanaaag

— Tald \textrm lumsmuanoudlugas (5iunisunsn
TaaMUUNGLYITW)

o A1RILAINWOWE L1 math mode:

\mathrm{ABxy} ABxy \mathsf{ABxy} ABxy
\mathnormal{ABxy} ABxy\mathtt{ABxy} ABxy
\mathcal{ABxy}  .AB§} \mathit{ABxy} ABzy
\mathbf{ABxy} ABxy




Math Font

e 19A51 audnanstiusladuazamanoud o
— \displaystyle — 123
— \textstyle — 123
— \scriptstyle — 123

— \scriptscriptstyle — 1




Math Font

| math font

Z?:l (wz = T) (yi — y)
corr(X,Y) =
[T (s =72 20 i — 7))

\begin{displaymath}
\mathop{\mathrm{corr}}(X,Y)=
\frac{

\sum_{i=1}"n(x_i-\overline{x})
(y_i-\overline{y})}

{\left[
\sum_{i=1}"n(x_i-\overline{x}) "2
\sum_{i=1}"n(y_i-\overline{yl}) "2

\right]~{1/2}}

\end{displaymath}




Math Font

. displaystyle .
n
Y (@i —7)(yi - 7)
1=1
corr(X,Y) = - - 7
D (@i =2 (v -7’
i=1 i=1
\begin{displaymath}
\mathop{\mathrm{corr}}(X,Y)=
\frac{\displaystyle

\sum_{i=1}"n(x_i-\overline{x})
(y_i-\overline{yl})}
{\displaystyle\left[
\sum_{i=1}"n(x_i-\overline{x}) "2
\sum_{i=1}"n(y_i-\overline{y}) "2
\right] “{1/2}}
\end{displaymath}




Theorem A

Thal Lihyx

o lulangInadiaamaad qusu1snssngeunlasdaias
o o o o d Y I nsunsnItnwm
Mnulegaaludale lasltiaIasdafniSenin “theorem” "

e theorem mmsnmé’ﬂmﬁﬁﬂ LT 76 “Theorem,” “Definition,”

=)

“Axiom,” “Lemma,” . . . TIZWULRVLLNNK

e N13M¥UA theorem udazya 1A assaliitli preamble:

\newtheorem{namel} [counter] {text} [section]

A =2 vy =
— name = °11EJ°1;@1 theorem ¢332 Tﬂ’]@ﬂ\ﬂ%lﬂﬂa'ﬁ

o a do v 2 A o &
— counter = Taga theorem aufirnualiuarmsazriuanidn
TALALINY

— text = Taya theorem Nazinnglwanas

— section = counter 7132 prefix LRZAUUAVIULVANITHL LAY
theorem L1 section wu1aH9n1T prefix AI8LLAY section
waziSuy 1 luailadn section




n1sRNNFUNIINHGTIENT

Theorem

A o Y Y v
o Liarvua theorem 628 \newtheorem ua? qus1N1301E
name lunia$1y theorem luganng laglaluuu:

\begin{name} [text]
. 1831 theorem . . .
\end{name}

— text \Oudaanuazgldidnge theorem Svaziangeaan
Wu8LaY theorem




Theorem

[ theorem 1 NSANNFUN I IARAMITAS
Law 1 Don’t hide in the witness % in the preamble
box \newtheorem{law}{Law}

\newtheorem{jury} [law] {Jury}
Jury 2 (The Twelve) In could

be you! So beware and see Law 1 % in the document

Law 3 No, No, No \begin{law} \label{law:box}
Don’t hide in the witness box
\end{law}

\begin{jury} [The Twelve]
In could be you! So beware and
see Law™\ref{law:box}

\end{jury}

\begin{law}
No, No, No
\end{law}




n1sRNNFUNIINHGTIENT

Theorem

. theorem |

Murphy 7.1 If there are two or % in the preamble

more ways to do something, and \newtheorem{mur}{Murphy?} [section]

one of those ways can result in a

catastrophe, then someone will do % in the document

it. \begin{mur}
If there are two or more
ways to do something, and
one of those ways can result
in a catastrophe, then
someone will do it.

\end{mur}




w

K31 anﬂmm‘nm

ThaiLihyx

n1sRNNFUNIINHGTIENT

Q

« n3lERganunindiaraasaanuwlu KTEX daudrsgsen:

_ @& \mathbf{...}
— lae1 roman(upright) usigasli math mode Un@idn
a1 italic
— 146 \boldmath ¢
— 1Flduan math mode 11114

. bold symbols

\begin{displaymath}
w M p, M, M & by
\mu, M \qquad
\mathbf{\mu, M} \qquad
\mbox{\boldmath $\mu, M$}

\end{displaymath}




w Qo

Juans¥ata N

-%4

o 14 package amsbsy (include 311 amsmath lagdaluai@) Jeas

\boldsymbol{. ..}

. bold symbols |
\begin{displaymath}
wM o, M & S
\mu, M \qquad
\boldsymbol{\mu}, \boldsymbol{M}

\end{displaymath}




8. msuninjunmw




nsunsngdain

¥

o BHTEX fdasdmsunaguludaiad wasmdamasugisudn

2,

— nldn3 insert g nlysunTudw
e suuufl ITEX sviuayu: EPS (Encapsulated Postscript)

o JUsunsufisnisoazs EPS g
_ xfig — dia
— tgif — gnuplot

o #lF PDFIATEX junwiissiuayufouuy JPEG, PNG,
MetaPost (taz PDF




nsunsngdain

« package graphicx (S‘I’}GLﬂud’mmmﬂmao package graphics)

\usepackage [driver] {graphicx}

_ driver fo%aldsunsufildianis output deann KIEX iefl
BTEX agldiegdnmlungluunfuanzas

— ¢ driver Un@fisinlEfde dvips winquld PDFIATEX g
analden pdftex

— awin@ qua33ey driver wwue winladszy — package
graphics azldawdné@an configuration 289320




nsunsngdaan

o MFILNINFUNIN

\includegraphics [key=value,. .. ]1{file}

_ file AaFelnanaWnfidasnis

1 0 = s dl g; 1
— @1 optional argument key AaN13302193 TIRININAIAT

dineg daluitle

x width do/asraqlliladnnunienitdmue

* height da/asagllildanugsindmun

<1 A o
* angle wynglnmwnimdumnAnmaineseinivine

x scale do/apalaginmsasIuaadg

ThaiLihyx

777ﬂ£77777j1/_f77w




nsunsngdnn

e 618819

| graphics

How much wood could a

woodchuck chuck if a woodchuck

could chuck wood

How much wood could a woodchuck
chuck if a woodchuck could
chuck wood

\includegraphics
[width=.2\linewidthl]
{images/question.pdf}




nsunsngdnn

e 618819

How much wood could
a woodchuck chuck if a
woodchuck could chuck

wood?

graphics |

\begin{tabular}{|c|}
\hline
\includegraphics
[width=.2\linewidth]
{images/question.pdf}
\begin{minipage}{.7\1linewidth}
How much wood could a woodchuck
chuck if a woodchuck could
chuck wood?
\end{minipage}\\
\hline
\end{tabular}
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